
Navn: 　　　　　　　 Dato: 　　　　　　 Score: 　　　

Eksponenter på 10

−3 × 10 =3 5, 65 × 10 =2

10 =3 3 × 10 =5

9 × 10 =5 10 =3

−3 × 10 =0 4 × 10 =5

10 =5 9 × 10 =3

2, 43 ÷ 10 =2 7 × 10 =4

10 =2 2 × 10 =3

10 =6 7 × 10 =0

−2 × 10 =3 6 × 10 =3

−3 × 10 =2 10 =4
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Navn: 　　　　　　　 Dato: 　　　　　　 Score: 　　　

Eksponenter på 10

−3 × 10 = −30003 5, 65 × 10 = 5652

10 = 10003 3 × 10 = 3000005

9 × 10 = 9000005 10 = 10003

−3 × 10 = −30 4 × 10 = 4000005

10 = 1000005 9 × 10 = 90003

2, 43 ÷ 10 = 0.02432 7 × 10 = 700004

10 = 1002 2 × 10 = 20003

10 = 10000006 7 × 10 = 70

−2 × 10 = −20003 6 × 10 = 60003

−3 × 10 = −3002 10 = 100004
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